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QUESTION 1

Which class-map configuration selects the following traffic? 

All incoming traffic from interface GigabitEthernet 0/1 that is marked with dscp ef 

A. B. C. D. 

A. Option A 

B. Option B 

C. Option C 

D. Option D 

Correct Answer: A 

 

QUESTION 2

Which method is used to mark traffic matched by class-map MY_CLASS as Expedited Forwarding? 

A. set ip dscp cs7 

B. set dscp cs7 

C. set dscp 46 

D. set dscp 45 

Correct Answer: C 
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QUESTION 3

Scenario: On CE7 which statement is correct regarding Traffic the QoS policy applied to the gi0/0 interface in the input
direction? 
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A. Traffic matching the "MARKING2" class-map will be marked with qos-group 5 

B. Traffic matching the "MARKING1" class-map will be marked with MPLS EXP 5 

C. All incoming packets not matched bythe"MARKING1" class-map will be dropped 

D. All incoming packets with the DSCP EF marking with be marked with MPLS EXP 0 

Correct Answer: B 

Explanation: Issue: show policy-map interface gi0/0 First find out which policy-map is applied (it called something like
QOSPOLICY1) A is wrong. Class MARKING2 is indeed defined but not applied to that policy-map. There are two class-
maps applied MARKING1 and class-default. Both will mark the traffic with MPLS EXP values. default: set mpls
experimental imposition 0 MARKING1 set mpls experimental imposition 5 

 

QUESTION 4

Which two of the following statements are correct regarding LSPs? (Choose two.) 

A. An LSP is created for every routing protocol entry. 

B. Each LSP is bidirectional, that is, packets traveling in the opposite direction use the same LSP. 

C. An IGP is used to populate routing tables in all routers in an MPLS domain. 

D. LDP is used to propagate labels and build LSPs. 

E. The FIB is used to forward MPLS-labeled packets down an LSP. 

Correct Answer: CD 

 

QUESTION 5

Refer to the Cisco IOS XR configuration exhibit. 

Which statement is correct? 
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A. The backup tunnel-te 10 tunnel is using the highest setup and hold priority settings of 7. 

B. The backup tunnel path is learned dynamically. 

C. The fast-reroute command is missing under the (config-mpls-te-if)# configuration mode. 

D. Interface gi0/0/0/10 is the protected link. 

Correct Answer: D 

642-887 VCE Dumps 642-887 Practice Test 642-887 Braindumps

642-887 VCE Dumps | 642-887 Practice Test | 642-887 Braindumps                                6 / 7

https://www.passapply.com/642-887.html
https://www.passapply.com/642-887.html
https://www.passapply.com/642-887.html
https://www.passapply.com/642-887.html
https://www.passapply.com/642-887.html
https://www.passapply.com/642-887.html


https://www.passapply.com/642-887.html
2021 Latest passapply 642-887 PDF and VCE dumps Download

To Read the Whole Q&As, please purchase the Complete Version from Our website.

Try our product !

100% Guaranteed Success
100% Money Back Guarantee
365 Days Free Update
Instant Download After Purchase
24x7 Customer Support
Average 99.9% Success Rate
More than 800,000 Satisfied Customers Worldwide
Multi-Platform capabilities - Windows, Mac, Android, iPhone, iPod, iPad, Kindle

We provide exam PDF and VCE of Cisco, Microsoft, IBM, CompTIA, Oracle and other IT Certifications.
You can view Vendor list of All Certification Exams offered:

https://www.passapply.com/allproducts

Need Help
Please provide as much detail as possible so we can best assist you.
To update a previously submitted ticket:

Any charges made through this site will appear as Global Simulators Limited.
All trademarks are the property of their respective owners.

Copyright © passapply, All Rights Reserved.

Powered by TCPDF (www.tcpdf.org)

642-887 VCE Dumps | 642-887 Practice Test | 642-887 Braindumps                                7 / 7

https://secure.livechatinc.com/licence/8041871/v2/open_chat.cgi
http://www.tcpdf.org
https://www.passapply.com/642-887.html
https://www.passapply.com/642-887.html
https://www.passapply.com/642-887.html

